
G1

G4

X = 13

MPLS Topology 2

G0

G0

G2

Service Provider 
MPLS Core

P1

G0

G0
G1

G1

G2

G1 G1

G2
G1

R7 R8

R6

XR1

XR2

R2XR3

XR4

R5

PE1

P5P3

P4

X = 14

X = 23

X = 24

X = 45

IP Addresses: 172.16.X.Y/24
Y = Device ID

X = 17

X = 27

X = 58

X = 68

X = 36

X = 34

G3

All Loopback Addresses: 
10.Y.Y.Y/32

Y = Device ID

P2

R2RR1

G3
G4

G5

G5

G0
G1

X = 46

P6

G2

G2 PE2

X = 113

X = 114

X = 56

Domain 1
IS-IS

Domain 2
OSPF

X = 12

X = 35


	MPLS Topology 2
	Locical Topology IOU


